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int x;
double a;
scanf(“%d”, &x);

scanf(“%lf”’ &a);
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#include<stdio.h>
int main(void){

int x;

double y;

printf(“F&H A A J) L TH¥n”);
scanf(“%d”,&x);

printf(“FE4 & A7) L TH¥n”);
scanf(“%lf”,&y);

printf(“x : %d¥n” x);
printf(“y : %f¥n”,y);

return 0;
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#include<stdio.h>
int main(void){
int a;
printf(“Bfif 2 A7) L CT4a¥n”);
scanf(“%d”,&a);
if(a >= 100){
printf(“ A7) U7=%%fE 1% 100 L ECTF, ¥n");
}
else if(a >=10){
printf(“ A 77 U7=#0fE 1% 10 LA L 100 Kt T3, ¥n”);
}
elsel
printf(“ A 7] U725 fE 1% 10 K5 T3, ¥n”);
§

return 0;
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